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A. PHẦN TRẮC NGHIỆM (70 điểm) 
I.  Listening. (15 pts)
Part 1: You are going to hear a conversation between Don and a woman who wants to join an international social cluB.For questions from 1 to 5 choose the correct option A, B or C.You will hear ONCE ONLY 
Question 1: According to Don, what might be a problem for Jenny?
 	A. her accent			B.talking to her colleagues 		C.understanding local people
Question 2: How many members does the club have now?
 	A. 30				B.50					C.80
Question 3: How often does the club meet?
 	A. once a week			B.once every two weeks		C.once a month
Question 4. What is the club’s most frequent type of activity?
	 A. a talk				B.a visit			 	C.a meal
Question 5. The main purpose of the club is to help members to______
	 A. meet Australians.		B.learn about life in Australia.	C.enjoy themselves together
Part 2: You will hear a conversation between an admission officer and a manager of a university technology department. For questions from 6 to 10 choose the correct option A, B, or C.You will hear the recording  TWICE.
Question 6: Dave Hadley says that the computer system has
	A. too many users		B.never worked well			C.become outdated
Question 7: The main problem with the computer system is
	A. is too slow			B.stops working			C.displays incorrect data.
Question 8. Timetabling has become an issue because
	A. There is not enough time for anyone to do
	B.The system does not handle course option
	C.The courses are constantly changing
Question 9. To solve the timetabling issues, Randhir suggested
	A. students should create their own timetables
	B.Dave should have someone to help him.
	C.the number of courses should be reduced.
Question 10. Randhir says that a new system may
	A. need to be trialled.		B.still have problems.		C.be more economical. 

Part 3: You will listen to part of an interview with the press officer of the National Fitness Association, in which he gives advice on how to join the right gym. For questions 11 to 15, choose the answer (A, B or C). You will hear the recording TWICE.

Question 11. Why is it advisable to research gyms in your area before you join?
	A. Some gyms have too much of a social scene.
	B.Different gyms suit people with different needs.
	C.It's impossible to lose weight in the wrong gym.
Question 12. Mark warns that joining a gym which is unsuitable for you ________.
	A. will make you want to give up.	
	B.might prove embarrassing.		
	C.could end up being expensive.
Question 13. According to Mark, when should you visit a gym for the first time?
	A. When it's at its busiest 	B.On any weekday 			C.At a relatively quiet time 
Question 14. If the gym asks you to sign a contract, you should ________.
	A. be suspicious of that gym.	B.study it closely on your own.	C.see what happens if you leave.
Question 15. Why does Mark say that life memberships are not good?
	A. You might decide to live elsewhere.
	B.The gym might move far away from you.
	C.You might change your mind about exercise.
  === THE END OF THE LISTENING ===  
II. LEXICO-GRAMMAR  ( 28 pts)
	Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part is pronounced differently for the questions from 16 to 17.
Question 16. A.media	B.chemistry	C.message	D.networking
Question 17. A.dictation    B.station 	C.repetition	D.question
	Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress for the questions from 18 to 20.
Question 18. A.express 	B.effort 	C.office 	D.comment
Question 19. A.awareness	B.generous	C.fortunate	D.cinema 
Question 20. A.understand	B.entertain	C.engineer	D.committee
	Mark the letter A, B, C, or D on your answer sheet to indicate the best answer to complete each of the following sentences for the questions from 21 to 33.
Question 21. I need to mop the floor, but I don’t know where the ______is.
	A.laundry detergent	B.ironing board.     	C.stove  	D.surface cleaner
Question 22. In superhero movies, there are often special effects and __________ images to be more convincing. 
	A.computer-generate	B.computer-generation	C.computer-generated	D.computer-generating
Question 23. Are you going to see the latest __________ in the cinema? Everyone is very excited about it! 
	A.trailer	B.genre	C.blockbuster	D.A-list
Question 24.People can __________ the lives of needy people, street children and those with disabilities with a small time every week volunteering.
A.donate		B.improve	C.raise		D.contribute to
Question 25. A person who goes on a trip for religious reasons is called a/an __________. 
	A.offering	B.visitor	C.prayer	D.pilgrim 
Question 26. Minh did not bring any gifts to the party, __________ did he talk to anyone. 
	A.or	B.nor	C.but	D.so
Question 27. _______ as taste is really a composite sense made up of both taste and smell.
	A.That we refer to	B.What we refer to	C.To which we refer	D.What do we refer to
Question 28. James never shows his emotions; no matter what happens, he always keeps a stiff upper _______.
       A.mouth 	B.teeth	C.feet 	D.lip
Question 29. On the top of the hill ________.
	A.a stone castle stands		B.does a stone castle stand        
	C.is a stone castle standing   	D.stands a stone castle.


Question 30. _________, the balcony chairs will be ruined in this weather.
	A.Leaving uncovered		B.Having left uncovered	
	C.Left uncovered		D.Been left uncovered
Question 31. In 1970, the nation was _________ the threshold of a new era of road development. 
	A.in	B.on	C.of	D.with
Question 32. It is important_______ what to do when there is a fire.
	A.for you must know about	B.that everyone know	
	C.we knew			D.that he knew	
Question 33. Last night’s concert did not______ our expectations. 
	A.catch up with 	B.stand in for 	C.come up to 	D.look up to
Mark the letter A, B, C or D on your answer sheet to indicate the underlined word or phrase that must be changed in order for the sentence to be correct for the questions from 34  to 36.
Question 34. Many people are afraid that in the future there will be no space leaving for human beings and they express the idea of robots replacing human beings.
	A.afraid                       B.there will be		C.leaving		D.replacing
Question 35. All the candidates for the scholarship will be equally treated regarding of their age, sex or nationality
	A.candidates	B.scholarship	C.regarding	D.nationality
Question 36. The works of early American woodcarvers had many artistic qualities, but these craftsmen probably did not think of them as artists.
	A.them                         B.many	C.works	D.probably
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) for the questions from 37 to 38.
Question 37. Throughout history, the prevalent authority pattern in families has been patriarchy, in which males are in control.
	A.extraordinary	B.strange	C.dominant	D.uncommon
Question 38. We have lived there for years and grown fond of the surroundings. That is why we do not want to leave.
	A.loved the surroundings	B.planted many trees in the surroundings
	C.possessed by the surroundings	D.haunted by the surroundings
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) for the questions from 39 to 40.
Question 39. These were the people who advocated using force to stop school violence.
	A.strongly condemned        		B.publicly said	 	
	C.openly criticized			D.publicly supported
Question 40. Life on Earth has continually been in flux as slow physical and chemical changes have occurred in here.
	A.producing	B.changing  	C.breaking          	D.staying unchanged

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is CLOSEST in meaning to each of the following questions from 41 to 43.
Question 41.Many immigrants do not want their children to suffer from not speaking dominant language well, as they did.
A. Many immigrants do not want their children to speak dominant language as well as they did.
B. Many immigrants want their children to speak dominant language better than they did.
C. Many immigrants want their children to speak dominant language as well as they did.
D. Many immigrants want to speak dominant language as well as their children can.
Question 42. He was about to do something when his mother suddenly shouted out. 
	 A.He was doing something when his mother suddenly shouted out. 
B. He refused to do something about his mother suddenly shouting out. 
C. He was on the point of doing something when his mother suddenly shouted out. 
D. His mother’s sudden shouting out helped him to do something. 
Question 43. My eldest sister started working as a freelance journalist as soon as she graduated from university. 
A. No sooner had my eldest sister started working as a freelance journalist than she graduated from university. 
B. Hardly had my eldest sister started working as a freelance journalist when she graduated from university. 
C.No sooner had my eldest sister graduated from university than she started working as a freelance journalist. 
D.After my eldest sister graduated from university, she had started working as a freelance journalist
Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions from 44 to 46.
Question 44. Kate completed her higher education. She then decided to travel the world before getting a job.
	A.Without completing her higher education, Kate decided to travel the world before getting a job.
B.Given that Kate decided to travel the world before getting a job, she completed her higher education. 
	C.Having completed her higher education, Kate decided to travel the world before getting a job.
	D.Kate had scarcely travelled the world before getting a job when she completed her higher education. 
Question 45. Some economists argue that new technology causes unemployment. Others feel that it allows more jobs to be created.
	A.Some economists argue that new technology causes unemployment, so others feel that it allows more jobs to be created.
	B.Arguing that new technology causes unemployment, other economists feel that it allows more jobs to be created.
	C.	Besides the argument that new technology causes unemployment, some economists feel that it allows more jobs to be created.
	D.	Some economists argue that new technology causes unemployment whereas others feel that it allows more jobs to be created.
Question 46. He was successful because he was determined to pursue personal goals. He was not talented.
	 A.His success lay in his natural ability, not in his determination to pursue personal goals. 
B. In addition to his determination, his talent ensured his success in pursuing his goals. 
C. His determination to pursue personal goals made him successful and talented.
D. It was his determination to pursue personal goals, not talent, that contributed to his success. 

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges in the following questions from 47 to 48
Question 47. Hoa and Lan are talking about Lan’s new dress at a party.
	-  Hoa: “You look very beautiful in that dress, Lan”.
	- Lan: “________.”
A.I don’t mind.		B.Thanks for your compliment
       C.You tell a lie.		D.I’m sorry to hear that.
Question 48. Jenifer and John are talking about their study at school.
	-Jenifer: “I think your English skill is a lot better, John.” 
- John: “________.”
	A.You've got to be kidding. I thought it was still bad.
	B.Yes, please. Just a little.
	C.No, thanks. I think I can do it.
	D.Thank you. I’d love to.

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to complete the following passage for the questions from 49 to 56.

FILM DIRECTORS WITH BIOGRAPHY
	Film directors usually make the least promising subjects for biography. They tend to stay behind the camera and (49)_______ making films, emerging only to make the particular promotional statement. Only rarely is a film-maker interesting enough to (50) _______ biographical interest, and some pay off the attention handsomely. What could biographers resist analyzing Hitchcock, Woody Allen, or Polanski? These directors, in any case, were themselves sufficiently absorbed in their own (51) _______ to cross over the other side of the camera and (52) _______ themselves to the public.Much of Jean Renoir’s public profile is (53) _______ on his appearance in his final film. But judged by the most recent biographer, Ronald Bergan, the man was simply not interesting. He grew up in the benevolent (54) _______ of his painter father, against whom he appears not to have rebelled in any way, emerged to make his own mark in the early life and went on making films for most of the rest of his life. Even when (55) _______ with war, Renoir seems to have (56) _______ through his career with equanimity. 

Question 49.A.get on with	B.go down with 	C.look up to 	D.take care of 
Question 50.A.award 	B.prize 	C.value 	D.merit 
Question 51.A.view 	B.image 	C.trend 	D.expression 
Question 52.A.display 	B.examine 	C.allow 	D.distinguish 
Question 53.A.described 	B.based 	C.imagined 	D.gathered 
Question 54.A.memory 	B.vision 	C.shadow 	D.regard 
Question 55.A.faced 	B.tackled 	C.charged 	D.opposed 
Question 56.A.flown 	B.run 	C.wandered 	D.sailed 

Read the passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions from 57 to 63.
	Spread across eight countries - Brazil, Peru, Colombia, Bolivia, Guyana, Ecuador, Suriname and French Guiana - the Amazon represents nearly a third of all tropical rainforest spanning an area twice the size of India. Not only is it renowned for its vibrant biodiversity, including jaguars, tapirs, macaws, toucans and monkeys, but it is also critical to our climate. 
	But the Amazon is just one of the world’s many rainforests - with each playing a pivotal role in the planet’s health. Other across Latin America can be found from Mexico to Panama, and all the way to the temperate rainforests of Chile – home to the world’s southernmost rainforest.  
	Across the South Atlantic Ocean, the Congo Basin rainforest covers an enormous 288 million hectares, with 60% of the forest found in the Democratic Republic of Congo (DRC). Further East across the Indian Ocean, Southeast Asia is also rich in tropical forest. Both Indonesia and Malaysia are famous for their orangutans – though large areas of their habitat have been converted to agriculture, and this species of great ape is now found only in parts of the Islands of Borneo and Sumatra.
	Rainforests are also home to an estimated 50 million people - with more than a billion people depending on them for their livelihoods. Expert knowledge of plants and their properties, of the seasons, and of animal interactions, means local people are the best custodians of tropical forest.  In fact, forest that is managed by Indigenous peoples and local communities has lower deforestation rates than forest that is managed by governments. Recognition of Indigenous land rights and formalization of land ownership is one of the best ways to secure the future of the world’s rainforests.

Question 57: What is the best title for this passage?
   A.The Amazon – the largest tropical rainforest            B.The biggest rainforests in the world
   C.The Congo Basin rainforest                                       D.The temperate rainforests of Chile
Question 58: The word “it” in paragraph 1 refers to ________.
   A.a tropical rainforest                                                    B.the Amazon
   C.India                                                                            D.French Guiana
Question 59: The word “enormous” in paragraph 3 is closest in meaning to ________.
   A.very large                      B.medium                            C.small                        D.famous
Question 60: According to paragraph 1, the Amazon is famous for all of the following EXCEPT______.
   A.jaguars                           B.tapirs                                C.toucans                    D.squirrels
Question 61: The word “estimated” in paragraph 4 is closest in meaning to ________.
   A.guessed                          B.indicated                          C.fixed                        D.calculated
Question 62: Which statement is NOT TRUE, according to the passage?
   A.The species of orangutans is now found only in parts of the Islands of Borneo and Sumatra.
   B.Rainforests are also home to millions of people.	
   C.Rainforests are really crucial to our climate. 		
   D.Every rainforest plays a minor role in the planet’s health.
Question 63: Which of the following can be inferred from the passage?
   A.Billions of local people can’t live without tropical rainforests.
   B.Governments need to pay more attention to the protection of rainforests.
   C.Indigenous peoples and local communities never deforest to make their living.
   D.Indigenous peoples and local communities don’t care about protecting rainforests.

Read the passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions from 64 to 70.
	We live in a world of tired, sleep deprived people. In his book Counting Sheep, Paul Martin – a behavioural biologist – describes a society which is just too busy to sleep and which does not give sleeping the importance it deserves.
	Modern society has invented reasons not to sleep. We are now a 24/7 society where shops and services must be available all hours. We spend longer hours at work than we used to, and more time getting to work. Mobile phones and email allow us to stay in touch round the clock and late-night TV and the Internet tempt us away from our beds. When we need more time for work or pleasure, the easy solution is to sleep less. The average adult sleeps only 6.2 hours a night during the week, whereas research shows that most people need eight or even eight and a half hours’ sleep to feel at their best. Nowadays, many people have got used to sleeping less than they need and they live in an almost permanent state of ‘sleep debt’.
	Until the invention of the electric light in 1879 our daily cycle of sleep used to depend on the hours of daylight. People would get up with the sun and go to bed at nightfall. But nowadays our hours of sleep are mainly determined by our working hours (or our social life) and most people are woken up artificially by an alarm clock. During the day caffeine, the world’s most popular drug, helps to keep us awake. 75% of the world’s population habitually consume caffeine, which up to a point masks the symptoms of sleep deprivation.
	What does a chronic lack of sleep do to us? As well as making us irritable and unhappy as humans, it also reduces our motivation and ability to work. This has serious implications for society in general. Doctors, for example, are often chronically sleep deprived, especially when they are on ‘night call’, and may get less than three hours’ sleep. Lack of sleep can seriously impair their mood, judgment, and ability to take decisions. Tired engineers, in the early hours of the morning, made a series of mistakes with catastrophic results. On our roads and motorways lack of sleep kills thousands of people every year. Tests show that a tired driver can be just as dangerous as a drunken driver. However, driving when drunk is against the law but driving when exhausted isn’t. As Paul Martin says, it is very ironic that we admire people who function on very little sleep instead of criticizing them for being irresponsible. Our world would be a much safer, happier place if everyone, whatever their job, slept eight hours a night.
Question 64. According to the passage, which of the following statements is TRUE about Paul Martin?
A.He shows his concern for sleep deprivation in modern society.
B.He gives an interesting account of a sleepless society.
C.He is a scientist who is chronically deprived of sleep.
D.He describes the modern world as a place without insomnia.
Question 65. The phrase “round the clock” in the second paragraph is similar in meaning to______.
A.all day and night			B.surrounded with clocks
C.during the daytime			D.having a round clock
Question 66. The writer mentions the Internet in the passage as______.
A.a temptation that prevents us from sleeping
B.an easy solution to sleep deprivation
C.an ineffective means of communication
D.a factor that is not related to sleep deprivation
Question 67. The word which in the third paragraph refers to______.
A.reaching a point			B.masking the symptoms
C.the world’s population		D.caffeine consumption
Question 68. Which of the following is TRUE, according to the last paragraph?
A.Doctors ‘on night call’ do not need more than three hours of sleep a day.
B.Our motivation decreases with the bigger number of hours we sleep.
C.Sleep deprivation has negative effects on both individuals and society.
D.Thousands of people are killed every day by drunken drivers.
Question 69. Which of the following would the writer of the passage approve of?
A.Our world would be a much safer place without drinkers.
B.Both drunken drivers and sleep-deprived people should be criticized.
C.There is no point in criticizing irresponsible people in our society.
D.We certainly can function well even when we hardly sleep.
Question 70. Which of the following could best serve as the title of the passage?
A.Accident Prevention: Urgent!	B.Sleep Deprivation: Causes and Effects
C.A Society of Sleepless People	D.A Well-known Biologist

B.PHẦN TỰ LUẬN ( 30 pts)
Part I. Complete the second sentence so that it has a similar meaning to the first sentence, using the word given. Do not change the word given. (10pts)
Question 1.She felt sorry she hadn’t gone to his birthday party.
	 She regretted _______________________________________________________.
Question 2. You missed the class yesterday so you can’t do this exercise now.
	 Had ______________________________________________________________.
Question 3. She was so physically attractive that every boy ran after her.
	 Such ______________________________________________________________.
[bookmark: OLE_LINK3][bookmark: OLE_LINK4]Question. 4. I am sure the man took the money on purpose.
	 The man ___________________________________________________________.
Question 5. The number of people out of work has fallen dramatically this year.
	 There has __________________________________________________________.
Part II. Complete the second sentence so that it has a similar meaning to the first sentence, using the word given. Do not change the word given. You must use from THREE to FIVE words, including the words given in capital. (10pts)
Question 6. I was amazed because there were no problems throughout the holiday. (WENT)
	 To _______________________, ___________________ wrong throughout the holiday.
Question 7. He paid no attention to our warning. (NOTICE) 
      He took______________________________ our warning.
Question 8. Jane speaks Vietnamese very well.  (COMMAND)
         Jane has _______________________English.
Question 9. My brother and I do not think in a similar way and understand each other well about the solution to the problem. ( WAVELENGTH)           
	 My brother and I aren’t ___________________________the solution to the problem. 
Question 10. John was shocked to hear that he had failed his driving test. (CAME) 
	It _______________ to John that he had failed his driving test 
Part 3: Write a paragraph ( 10pts)
Nowadays people can use smartphones to talk, learn, and communicate without leaving home. There is a danger that it will cause more isolation and a lack of communication among people. 
Write a paragraph to express your opinion about the statement. Write at least 120 words.
The end
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